INSTALLATION GUIDE

SR U

Dol

h [% T |

= |
N

INSERT MINIGT BOX AND DIECAST BEFORE CLOSING FRONT COVER

9 INSERT MINIGT CARD BEFORE INSTALL BACK COVER

SCREW M3

5

9

SCREW M ”
fe—|

\\

- H

S @ SCREW M3
%

SCREW M3

: NUT M3

NUT M3

N

' SCREW M3
\_.

SCREW M3

SCREW M3




